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H Enercc'be -9C) Pags. 

ind which ot the fallasing humbexs ahe_disisible by 2 
32 

n 523 
17 96 
o69 

Anb The humbes 32 and 96 ae disisible oy 2 herawe they 
beth he humbehb have eithez 4 o2 as theiz anit 
plaze whiuh batistits he divisihiliky hule af 2. 

he humoess a 523 and 649 ae noj diviaible h2 
beLauke he hae eiihe 9 a tteiz uhii plodo- 
hih deLshtAaisties the disisibili ky aule af 2 

2ind hich ot 1he fellewing huinbhess 0ke dioisible by 
i222 
532 
i)678 
i232 

Ashe hunbers 532 and 9232 ae disisible bhecauso hoth 
he humbehsahes diaY and feha dig ii is diriuible hy y 

hiuh 3aiisfies i he divisi blitg hulk_of 

he humbe ss 222 and b78 aze ho diviaihle hbesaube 
belh the hucbes bhes diqik and fe digit is hof 
divisible h whi.ch doesn? f satrafles he diuisiblify 
2ule ot y. 



4Fihd shich s the following humbess ahe dlsisible 
221 
i) 543 
in 20u42468-28492 
92319 
Ah he hambeh b 543 and 12399 _diuisible y 3 ea 

eth the hunbe' um 6f digits ib divisible hy 3 
hih batisties the diviai bliy.ale ot 3: 

The humbezb 221 and 28492 020 hot dioislble by betau oeth the humbe Aum af digiia is hot disuible by uhich Balisfies disiaibity hule et 3 
5Find which ef tho folssing hambe ss aze diviuible vg ? i1332 
i53244 
if) 4968 
iv) 200314 

Bn8ne hambehh 1332 ahd 4166 anedivisible p pezau osth to humbe) ham t dig iti is diviiimle by ukich batiitles disisibility by 9 
he humbehs 539Y4 and 200319 Az htt diviai ble by ne Laeho humb bam 6 diai k is hot dlvisho bguhih daeah 3atisties divisibiliky huk Y 



Date 

( 

6Find hich of the alloslng numess ahe diviai le bbi i) 324 
ii) 2010 
ri)33228 
i) 15505 

Anb The humbe h s 32 ahd 2 010 axdiviaible y 6 hecaup olt 
the humhess adilaile by 2and 3 hich batisties 
the disisilityiob 6 

he humbe,s 33278 and 45505 ae,disiible by b_ 
beouke hsth the hambehs ah hat divisible bg 2 and 3 
Lhih doeh atiAtieA ha divisibility hule ok6 

ind hih at tho follosing hambeaA ahe divisible hy S D5080 
6666b 
itp 155 
b) 9 264 

Ahx lhe numbess 50 80 ond 55 ae divisible by 5 beuouse 
hatth h humbthb haue 0oh5 aA units plate whiuh 
Batisfies the dioisibilitg hule b6 5 

The huhmbeh 66bbb ahd 9207 ax hat diviAi blo dyS 
hoAauss beth the hmbes den thaue 0ex Sak uniks 
pla whiuh satutfies the disisib ility haule of 5: 
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B:Fihd,the fallowing hamheh ao divisible by Le, 
9990 

iu) 8916 
Ah A The humheh 9990 is diuisible og 10 because if has 

0as tho anitA lae shiuh satiAfies te dlaisibdas 
eule s 10 



HW 
3- FLd hi th ef he the fellasing humbesbam diuisible by& 
i5 2 

i2536 
ii92360 

disisible 
he 

iv44u 320 
Ans he humbezb 2536927 60 and Hu320 ahehe Lause the 

hund hed>, enbahd ohe' digit is disisible by 8 Lhich 
atisties the divisi bility alo os 8 

The huveoe n 2 is hoi divisible ib by 8be4ause fhe 
honded ten ord ohedigik ibhditisible b 8 
hih do en'satisfies the disiibilit sule af 8- 



Date 
Paga 

9Fiho hiuh er the folobng hamben de dsisible 
D59 18 
t268.31 
i1t 3882 
i1085 

Anhe h ambe 2h 5118, 68,114 and 40857 ahe dis1 Nible 
11heLawe the hardiffhlhdoo oi 3u br eve dialt 
ard am 86 6dd diqits ib div-ÍAÍble by 11whiu 
hatist ies the disikibilikg huk o 11: 

het 

he hambe h 3882 oe,divisi le by41 heau diffeshie he sum s e seh digitA ohdAam 6dd digtta hie is htt diviAiSle by 1 Lwhich doe8not satiafies th Aisiaibilit ule st 
L 6 M3 

AnTf the um ob digiks oh a huac is diviile hy 3 thon e humbe i itaelf i> diuisible hy 3 
he sum oh igitie 61t 3tM 

13t M 

13 heheotet hu he heahest humbes dt LShich iA diviAible by 3 iA 15 Se e tihd h h2quihed who le humboh 1-432 

he hum'beh is 6423 



f6 M6 

hn he an d d:guts st alhumbta idisiidle ty 2 
hen 1he hutabea 1 diuisible hy 3 

The um o digita= Ht6tt6t M 
20+ M 

20 
hhAhes humb, 43 which is disiaihlei 
21 
Se ts ihd tie zepuized whala h unbes is 
21-20-1 
Se, M-1 
ho hamhe646 

D27 M 53 

Ane If the Adn or digiat aA nwmbe i disisible 10 
thon the humbe i divisible y 3 

The sum o digits = 2141St3+ M 
14+M 

The heaest hunbes 17 ohizh Ls diuiyible ty3 
ib 18 

So, ta fid the 2egied uhele hun bes is 
18-47 1 
Se, ME1 
he hunbeh L& 27153 
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12-1276 M91 

ble AhsThe bun afhaae digits is ditisble 4,9 
he humbe is divisible b 

The un igitAt6+941:M 
23M 

Ihe heabet hun 23 dhs.isible ba1is 23. 
Se h hRQuis d shelo humbe2A L 
21-23- 

S6, M-y 
ho umhe i t6 91 

51M 
Aw If the Sun ot digts is di visible t 9 thehethe 

humbe ib disiaible iby 

The bam digits HHt94 tM 
31tM 

fo ntoat humbes 31 disiai e by is 46 

36-31-5S 
Sa M5 
Tho nuhe ib 115485 
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iT 627 M9 

AnIF the Sum ob diai ta is disisihle hy9 theh the 
hwe is disisi bl 9 

The sum digita 6t2tt9+ M 
E24EM 

he heazOAT humbe sh 24 dioiAiLle by iA 22 
Se thhegiisedwhole nsnbesia 
24-24-3 
Ss, M- 3 
Lhe numheh Lp 62139 

14-1) 1f a humbeh iiA divii ble by 4,it is divisihle b 
False uiuih 

a humbe bs foitog_p 16 and 2, iisa fatss 

o6 ue 

t 2 a huntez is dioisihle hy 18 ii dieLAible by 

3 ahd 6 hut 

ILEa dinidods heth h ahd 2_Lemple toly, itheh d 

diyideb ath la- alao cehnpletely aue 



310H7A ( page 

10 FLhd uhith bt ihe tallouing hunbe >s a2e distlo 

L5 
960 
D 8295 
iti) Lo243 
)5013 
Av The huambezs 960 ahd 8215 ac_ disisible hy 15 

beAausee um eh digits is dinsible hy3 hiuh 
makes han diuisile ahd he uniisplaun 
is O 5 hinh makes fham divisi ble oyS 
dnd satitits he divisibility ule at 15 

plouz 

h 

he humoehs L0243 dhd 9013 ane, diviaible b 
15 euauge he whtsplace is het eith2 ahdo 5 Lhih makes then nit divLi le hyS and Asebhst satistjes Hho diviubiliiy l i5 

13- 39 M 

AThe diffzntnit Sum 6b aeh_digtand eyeh diits L aulfiple eb 11 o0 

Surn oA digds 12 
1 

Sun e aeh digd 3tM 

1-Ct M) = 8- M 

L it a 06h hnultide 11 8-M-0 
M-8 
he hum beh ib 3982- 



Dafe

iiD3M422 

AnThe diffabauza of sum of 2ucni digits and odd diyits is houltiple ef 4h 0: 

Sam 8 oAd digi+t2 
9 

of Bod diitse2t M 

E9-C2+ M) 7-M 

is 0 8) mukiple s6 11 
-M 0 

The numbee i 37422 

1iiD0975 M 

An he dittezenLe_bt aum o7sen dgits ahd odd digi 

Sm odd digitAt0t M 

21 

21-CH+ M)=14-M 

it ib nult Lple oif 14 ox 0. 
14-M=11 
M-3 
e hwnhe 109 753 
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A 1he difesehceor 8d bf 8dd digit ahd ee 
digits is oultiple sk 11 o2 0 

Sam o odd digits= 5tLtM 
= 6t M 

Sum-06 evch digA= 1EY 
11 

11-C6+M) = 5-M 

Iit is multiple o6 611 2 0 
5-M-0 
M-S 
hehukoeg s LUS5 
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